



St. Louis County, Minnesota

Date of Report: 4/30/2025 6:36:15 AM

		C	Seneral Details				
Parcel ID:	759-0090-00330)					
		Legal	Description Deta	ails			
Plat Name:	UNORGANIZEI	D 64-21					
Section	Tow	nship	Range			Lot	Block
32	(64	21			-	-
Description:	SW 1/4 OF NW	1/4					
		Ta	axpayer Details				
Taxpayer Name	KRUSE ERVIN	L					
and Address:	12853 SETHER	S RD					
	GHEEN MN 55	740					
			Owner Details				
Owner Name	KRUSE ERVIN	LEE					
		Payable	e 2025 Tax Sumr	nary			
	2025 - Net T	ax			\$935.00		
	cial Assessments			\$8	5.00		
	2025 - To	tal Tax & Spe	ecial Assessmen	nts \$1,020.00			
		Current Ta	ax Due (as of 4/2	9/2025)			
Due May 1	5			Total Due			
2025 - 1st Half Tax	\$510.00	2025 - 2nd H	2025 - 2nd Half Tax			5 - 1st Half Tax Due	\$510.00
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd H	lalf Tax Paid	\$0.00	202	5 - 2nd Half Tax Due	\$510.00
2025 - 1st Half Penalty	\$0.00	2025 - 2nd H	lalf Penalty	\$0.00	Deli	nquent Tax	\$3,338.09
2025 - 1st Half Due	\$510.00	2025 - 2nd H	lalf Due	\$510.00	202	5 - Total Due	\$4,358.09
		Delinquent	t Taxes (as of 4/2	29/2025)	•		
Tax Year		Net Tax	Penalty	Cst/Fees	5	Interest	Total Due
2024		\$1,266.00	\$107.61	\$0.00		\$36.63	\$1,410.24
2023		\$992.00	\$84.32	\$0.00		\$114.80	\$1,191.12
2022		\$551.92	\$38.63	\$20.00		\$126.18	\$736.73
	Total:	\$2,809.92	\$230.56	\$20.00		\$277.61	\$3,338.09
			Parcel Details				
Property Address:	12853 SETHER	S RD. ORR MN					

Property Address: 12853 SETHERS RD, ORR MN

School District: 2142
Tax Increment District: -

Property/Homesteader: KRUSE, ERVIN L & JUDITH E

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
201	1 - Owner Homestead (100.00% total)	\$44,800	\$43,100	\$87,900	\$0	\$0	-				
111	0 - Non Homestead	\$23,800	\$0	\$23,800	\$0	\$0	-				
207	0 - Non Homestead	\$1,400	\$47,900	\$49,300	\$0	\$0	-				
	Total:	\$70,000	\$91,000	\$161,000	\$0	\$0	1381				





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:36:15 AM

Land Details

 Deeded Acres:
 40.00

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

DK

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

			Improveme	nt 1 Deta	ils (STUCCO I	HSE)	
ı	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	HOUSE	1940	86	4	1,296	U Quality / 0 Ft ²	1S+ - 1+ STORY
	Segment	Story	Width	Length	Area	Foun	dation
	BAS	1.5	2	12	24	BASE	EMENT
	BAS	1.5	4	18	72	BASE	EMENT
	BAS	1.5	24	32	768	BASE	EMENT
	CW	1	7	20	140	FOUN	DATION
	OP	1	4	4	16	POST ON	N GROUND
	OP	1	6	8	48	POST ON	N GROUND
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
	1.0 BATH	3 BEDROOM	MS	-		0	CENTRAL, FUEL OIL

1.0 DATTI	3 BEDITOOM	3			0	CLIVITAL, I OLL OIL
		Improven	nent 2 De	tails (HOUSE #2)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
HOUSE	1989	64	10	640	-	RAM - RAMBL/RNCH
Segment	Story	Width	Length	Area	Founda	ition
BAS	1	16	40	640	FLOATING	SLAB
DK	1	2	10	20	POST ON G	ROUND
DK	1	5	9	45	POST ON G	ROUND

 SP
 1
 10
 12
 120
 POST ON GROUND

 Bath Count
 Bedroom Count
 Room Count
 Fireplace Count
 HVAC

 1.0 BATH
 1 BEDROOM
 0
 CENTRAL, FUEL OIL

319

29

11

	Improvement 3 Details (ATTACHED G)								
ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE	1989	640)	640	-	ATTACHED		
	Segment	Story	Width	Length	h Area	Foundati	on		
	BAS	1	16	40	640	FOUNDAT	ION		

Improvement 4 Details (GABLED DG)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	0	28	8	288	-	DETACHED			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	12	24	288	FLOATING	SLAB			

POST ON GROUND





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:36:15 AM

		Improvem	ent 5 Det	ails (HIPPED [OG)	
Improvement Type	Year Built	-	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	0	24	0	240	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	12	20	240	POST ON G	ROUND
		Improveme	ent 6 Deta	ails (WORKSH	OP)	_
Improvement Type	Year Built	-	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	1,08	38	1,088	-	• -
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	8	16	128	POST ON G	ROUND
BAS	1	24	40	960	POST ON G	ROUND
	ı	mproveme	nt 7 Detai	ils (MOBILEHO)MF)	
Improvement Type	Year Built	-	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
MANUFACTURED HOME	0	85	4	854	-	SGL - SGL WIDE
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	7	10	70	POST ON G	ROUND
BAS	1	14	56	784	POST ON G	ROUND
CW	1	7	19	133	POST ON G	ROUND
DK	1	6	21	126	POST ON G	ROUND
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
1 BATH	2 BEDROOM	IS	-		-	CENTRAL, FUEL OIL
		Improv	ement 8 [Details (BARN)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
BARN	0	1,28	30	2,560	=	-
Segment	Story	Width	Length	Area	Foundat	tion
BAS	2	32	40	1,280	FOUNDA	TION
		Improveme	ent 9 Deta	ils (SMALL SL	.PR)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
SLEEPER	0	17	6	176	=	<u>-</u>
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	8	10	80	POST ON G	ROUND
BAS	1	8	12	96	POST ON G	ROUND
LT	1	2	8	16	POST ON G	
LT	1	7	16	112	POST ON G	
	li	mnroveme	nt 10 Deta	ails (WOOD ST	OR)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	50		504	-	-
Segment	Story	Width	Length		Foundat	tion
BAS	1	18	28	504	POST ON G	
			nent 11 D	etails (NEW M		
Improvement Type	Year Built	Main Flo		Gross Area Ft 2	Basement Finish	Style Code & Desc
MANUFACTURED HOME	1978	81		816	-	SGL - SGL WIDE





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:36:15 AM

Segment	Story	Width	Length	Area	Founda	tion
BAS	1	12	68	816	POST ON GROUND	
DK	1	8	12	96	POST ON G	ROUND
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
1 BATH	2 BEDROOM	MS	-		-	CENTRAL, FUEL OIL
	lı	mprovemer	nt 12 Deta	ils (LRG WOO	DST)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING	1978	1,02	28	1,028	-	-
Segment	Story	Width	Length	Area	Foundation	
BAS	1	19	32	608	POST ON G	ROUND
BAS	1	20	21	420	POST ON G	ROUND
		Improveme	nt 13 Det	ails (CAMO SH	IED)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING	1978	96	;	96	-	-
Segment	Story	Width	Length	Area	Founda	tion
BAS	1	8	12	96	POST ON G	ROUND
	Salo	s Papartad	to the St	. Louis County	Auditor	

		As	sessment Histo	ry			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	201	\$44,800	\$42,100	\$86,900	\$0	\$0	-
[111	\$23,800	\$0	\$23,800	\$0	\$0	-
2024 Payable 2025	207	\$1,400	\$46,700	\$48,100	\$0	\$0	-
	Total	\$70,000	\$88,800	\$158,800	\$0	\$0	1,360.00
	201	\$44,500	\$42,100	\$86,600	\$0	\$0	-
	111	\$23,500	\$0	\$23,500	\$0	\$0	-
2023 Payable 2024	207	\$1,400	\$46,700	\$48,100	\$0	\$0	-
	Total	\$69,400	\$88,800	\$158,200	\$0	\$0	1,408.00
	201	\$37,900	\$32,400	\$70,300	\$0	\$0	-
	111	\$19,300	\$0	\$19,300	\$0	\$0	-
2022 Payable 2023	207	\$1,100	\$35,900	\$37,000	\$0	\$0	-
	Total	\$58,300	\$68,300	\$126,600	\$0	\$0	1,078.00
	201	\$30,000	\$35,600	\$65,600	\$0	\$0	-
	111	\$14,200	\$0	\$14,200	\$0	\$0	-
2021 Payable 2022	207	\$800	\$39,500	\$40,300	\$0	\$0	-
	Total	\$45,000	\$75,100	\$120,100	\$0	\$0	1,040.00
		Т	ax Detail History	,			

Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV
2024	\$1,181.00	\$85.00	\$1,266.00	\$54,269	\$74,485	\$128,754
2023	\$907.00	\$85.00	\$992.00	\$43,140	\$55,340	\$98,480
2022	\$1,019.00	\$85.00	\$1,104.00	\$33,000	\$60,860	\$93,860





St. Louis County, Minnesota

Date of Report: 4/30/2025 6:36:15 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.